yln] + aryln — 1] + asyln — 2] = boz(n] + brz[n — 1] + byz[n — 2. Reversing the order of the two realizations in

z[n| = bgz[n| + by zn — 1] + by z[n — 2], figures (a) and (b), and replacing the duplicated
z[n] = y[n] + a1 y[n — 1] + as y[n — 2. chains of shift elements with a shared single chain,

yield the final Direct Form Il realization in figure (c).
y[n] = 2[n] — a1 y[n — 1] —azy[n - 2].

______________________________

z[n] = by z[n] + by z[n — 1] 4 by z[n —2],

3—'["]"1_’ bo _"’@" z[n] x[n]es{ !
s ‘ yin] = 2fn] - ayyfo — 1] - aagfn - 2,
=] by = z[n] HO > y[n]
' :
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(a) Realization of z[n] from x[n] Y () Realization of ) frott xj]
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(b) Realization of y[n] from z[n]
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